Further Trigonometry
Homework 13
1.  Solve the following equations:
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2.  The diagram shows two curves 
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     Find the x-coordinate of the point of intersection at A.
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3.  A rectangular sheet of cardboard is to be folded to form a closed cuboid with a
     length of 
[image: image5.wmf]x

2

cm, breadth 
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cm and a volume of 72cm2
(a) Show that the height is 
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(b) Show that the total surface area 
[image: image8.wmf]A

 is given by the formula 
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(c) Find the dimensions of the cuboid so that the total surface area is minimum.
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TOTAL
22






_1152261251.unknown

_1277932034.unknown

_1277932036.unknown

_1277932037.unknown

_1277932035.unknown

_1152261388.unknown

_1152261425.unknown

_1152261972.unknown

_1152261282.unknown

_1070102166.unknown

_1071907674.unknown

_1070101966.unknown

